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rcardis
Note
Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1    0.2   0.212   0.012  0.913
Residuals 34  599.9  17.645               

Error: ani:per
          Df Sum Sq Mean Sq F value Pr(>F)
per        1   0.02   0.022   0.003  0.959
per:treat  1  17.82  17.819   2.176  0.149
Residuals 34 278.48   8.191 

rcardis
Note
circular statistic for
Mean +- 95% CI 

Sham mean direction = 152.2563 +- 1.3518
SNI mean direction = 150.3737 +-1.2826

The mean +- error are crossing.

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by state
Bartlett's K-squared = 22.509, df = 2, p-value = 1.295e-05

	Bartlett test of homogeneity of variances

data:  val by sni
Bartlett's K-squared = 0.0033796, df = 1, p-value = 0.9536

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$state == s & data$sni == t]
W = 0.91235, p-value = 0.09466

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$state == s & data$sni == t]
W = 0.98009, p-value = 0.9509

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$state == s & data$sni == t]
W = 0.90623, p-value = 0.07385

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$state == s & data$sni == t]
W = 0.95824, p-value = 0.568

[1] 0 3

	Shapiro-Wilk normality test

data:  data$val[data$state == s & data$sni == t]
W = 0.87608, p-value = 0.02244

[1] 1 3

	Shapiro-Wilk normality test

data:  data$val[data$state == s & data$sni == t]
W = 0.92756, p-value = 0.1759

ANOVA

Error: animal
          Df   Sum Sq   Mean Sq F value Pr(>F)
sni        1 3.60e-29 3.610e-29   0.046  0.832
Residuals 34 2.67e-26 7.853e-28               

Error: animal:state
          Df Sum Sq Mean Sq F value Pr(>F)    
state      2  44694   22347 636.891 <2e-16 ***
sni:state  2     43      21   0.607  0.548    
Residuals 68   2386      35   

rcardis
Texte surligné 
Two Sample t-test

t = -0.64455, df = 22, p-value = 0.5259

95 percent confidence interval:
 -15.69740   8.25355

sample estimates:
mean of x mean of y 
 166.7720  170.4939 


rcardis
Note
	Shapiro-Wilk normality test

data:  data$val[data$sni == 0]
W = 0.90048, p-value = 0.1609

One Sample t-test SHAM

t = 17.207, df = 11, p-value = 2.666e-09

alternative hypothesis: true mean is not equal to 100

95 percent confidence interval:
 158.2309 175.3131
sample estimates:
mean of x 
  166.772

rcardis
Note
	Shapiro-Wilk normality test

data:  data$val[data$sni == 1]
W = 0.98086, p-value = 0.9869

One Sample t-test SNI

t = 16.485, df = 11, p-value = 4.202e-09
alternative hypothesis: true mean is not equal to 100

95 percent confidence interval:
 161.0822 179.9057
sample estimates:
mean of x 
 170.4939 

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.12733, df = 1, p-value = 0.7212

	Bartlett test of homogeneity of variances

data:  val by per
Bartlett's K-squared = 0.0053138, df = 1, p-value = 0.9419

[1] 1 0

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.94976, p-value = 0.6335

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.95425, p-value = 0.6997

[1] 2 0

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.9129, p-value = 0.2324

[1] 2 1

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.93655, p-value = 0.4547

	ANOVA

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1   17.2   17.21   0.901  0.353
Residuals 22  420.4   19.11               

Error: ani:per
          Df Sum Sq Mean Sq F value   Pr(>F)    
per        1  683.8   683.8  58.523 1.23e-07 ***
per:treat  1    1.5     1.5   0.129    0.723    
Residuals 22  257.0    11.7                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.085765, df = 1, p-value = 0.7696

	Bartlett test of homogeneity of variances

data:  val by per
Bartlett's K-squared = 8.6082, df = 1, p-value = 0.003346

[1] 1 0

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.95974, p-value = 0.7801

[1] 2 0

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.96038, p-value = 0.7892

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.94836, p-value = 0.6131

[1] 2 1

	Shapiro-Wilk normality test

data:  data$val[data$per == p & data$treat == t]
W = 0.93736, p-value = 0.4647

	ANOVA

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)  
treat      1  365.4   365.4   3.081 0.0931 .
Residuals 22 2609.5   118.6                 
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Error: ani:per
          Df Sum Sq Mean Sq F value Pr(>F)  
per        1  107.8   107.8   1.451 0.2412  
per:treat  1  425.1   425.1   5.722 0.0257 *
Residuals 22 1634.6    74.3                 
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

	Paired t-test

data:  data$val[data$per == 1 & data$treat == 0] and data$val[data$per == 2 & data$treat == 0]
t = 2.2218, df = 11, p-value = 0.04821
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
  0.08382484 17.81447115
sample estimates:
mean of the differences 
               8.949148 

	Paired t-test

data:  data$val[data$per == 1 & data$treat == 1] and data$val[data$per == 2 & data$treat == 1]
t = -1.011, df = 11, p-value = 0.3337
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -9.388344  3.478130
sample estimates:
mean of the differences 
              -2.955107 

	Two Sample t-test

data:  data$val[data$per == 1 & data$treat == 0] and data$val[data$per == 1 & data$treat == 1]
t = 0.1505, df = 22, p-value = 0.8817
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -5.545085  6.412841
sample estimates:
mean of x mean of y 
 150.7225  150.2886 

	Two Sample t-test

data:  data$val[data$per == 2 & data$treat == 0] and data$val[data$per == 2 & data$treat == 1]
t = -2.3492, df = 22, p-value = 0.0282
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -21.596558  -1.344197
sample estimates:
mean of x mean of y 
 141.7733  153.2437 


